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B.A. 67 Semester (Honours) Examination, 2021 (CBCS)
Subject: History
Paper: DSE-III
History of Modern East Asia (1840-1919)

Time: 3 Hours Full Marks: 60
The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.
Al GTF TG FTNT 779 |
AT JATET [rers ST TGq 70 3T 1
1. Answer any Six of the following questions: 5x6=30
N ¢ P17 AT &TAT T Whes
a) Explain the reasons for the decline of Canton Trade.
o AT Aot e et A T
b) What was the role of opium in the First Anglo-Chinese War?
AT TH-5 Jra Aifeed o Foo! feer?
c) Discuss the nature of the Taiping Rebellion.
iR e agfe fdad w4
d) Give an account of the Hundred Days’ Reforms in China.
BIeTR *refvaeTa AR 39 we|
e) Why did Japan attack China in 1894?
QA (T Sbrd8 AT Bl S FCAReT?
f) Why the Anglo- Japanese alliance of 1902 is called most significant event in the

history of East Asia?
S50R TR TH-G% (AN (@ 57 A FoeT 77 (G wie o 7l B a1l 27
g) Analyze the significance of the ‘Treaty of Portsmouth’ (1905) in the history of East
Asia.
7 PR BFSRITT AGITNICCR A (dSvoe) wiea Reead 34|
h) What was the significance of Chinese Revolution of 19117

593 AT B Read T Ft feer?
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2. Answer any three of the following questions: 10x3=30

N 7 1T 717 eraw Tag wss

a)

b)

c)

d)

e)

Explain the main features of the Tung-Chih reforms. Why did these reforms fail?
Ge-o AHIER duie &8 ofer i 1| @2 Aewe ¢ zafea @7

Analyse the causes of the Boxer revolt in China.

Bie T3 fReanzs FEa ot e <9

Review the circumstances leading to the Meiji Restoration in Japan in 1867.

@ 7 +AfAfZeq T Sbrba A ST N3G @EHIEHT TR ©f Ao 4|

Trace the history of Japan’s ascendancy in the politics of East Asia from 1895 to
1919.

ShdE (ATF Sodd TAMY 7T R AT WA SYIEH 2o AEDA 71|

‘The twenty-one demands of Japan on China were basically economic’- Discuss.

Bt T wieies @ wl Al e Yoo qiAto - SieEn
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B.A. 6 Semester (Honours) Examination, 2021 (CBCS)
Subject: History
Paper: DSE-III (OR)
History of the USSR-I (1917-1945)

Time: 3 Hours Full Marks: 60

The figures in the margin indicate full marks.

Candidates are required to give their answers in their own words as far as practicable.

a)

b)

c)

d)

e)

g)

h)

alwq TE FeIrefT YA [eEE |

AT JATET [rers ST TGq 70 3T 1
Answer any Six of the following questions: 5x6=30
N (7 (P17 BT ATAT T Whes
Which groups and regions opposed the Bolsheviks during the Russian Civil War?
What were their political objectives?
T TYCET A (@ @ B ¢ Tes Feeifesme [Reaifier swafee? s
Ao Sraehele i feer?
To what extent was the ‘Great Famine of 1921’ caused by Bolshevik policies?
‘SH-F T YOCHH T IACHOF “Aife Fob! Tl f2er?
Was the ‘New Economic Policy’ of 1921 a “strategic retreat”?
5% AT ‘A GO Mo’ F “(Fe1ore ppmapraa” feer?
What was ‘De-Kulakisation’? What were the effects of this policy?
TF-FAfTTAT F? 3 Ffeq Aol F few?
What were the long-term effects of the ‘Great Purge’?
e wfe 7 AeRT s F e
Was the ‘Nazi-Soviet Non-Aggression Pact’ a success of Stalin’s foreign policy?
AGI-EHferTs TmarT §fe Fi sifenaa o Sifss aaf sy fee?
Why did England, America and Russia disagree over the question of the Second
Front in the course of World War II?
o feggraa e s, [t ¢ it T @ S 0o 40y ToNTH ¢l @2

How was the future of Poland decided in the Yalta Conference?

BT A PO (AITeed o9 fNdifae 2w
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2. Answer any three of the following questions: 10x3=30
RNA T 17 o715 v e wies
a) Was the overthrow of the Russian Provisional Government in 1917 a Bolshevik

b)

c)

d)

e)

engineered coup or a popular revolution?

3559 I T TFR TIPSR TAre F T a 2l Aeafoe argye e aifs
Gefce Rz feer?

How did the policy of ‘Korenizatsiiya’ (Korenization or nativisation) address the
question of nationalities in the Soviet Union? How was it changed in the 1930s?
FREGRER (FERFIT A ‘GRAeRe qfe’) e Eforre Hew wifere o=
AL FRMRE? S000-GF FHF IFeF G2 e RAfes 2w’

Explain the conflict between ‘Socialism in One Country’ and ‘Permanent
Revolution’.

QI TCToF AF Fr {277 -9F N0 ALATST [ Wi |

How did ‘agricultural collectivization” impact agricultural production and the Soviet
peasantry?

FF AR FroR IR Toma ¢ Giferre FTeWA ToF 2dOR (FerRe?

What were the successes and failures of the ‘First Five Year Plan’?

‘2N 2R SAfqdga ATw @ Lo FdeH Ft Fi



